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Answer ALL questions. Write your answers in the spaces provided. L
Some questions must be answered with a cross in a box X. If you change your mind about
an answer, put a line through the box & and then mark your new answer with a cross X.
1 (a) Which one of the following terms refers to a physical limit on the quantity of
imported products allowed into a country? R
— L] A Devaluation
— [J B Dumping
— [J € Publicgood
— [ D Quota
(b) Which one of the following names is given to the government policy that aims to
increase the productive capacity of the economy?
— L] A Trade
— [J B Fiscal
— ] € Supply-side
— [ D Exchange rate

(c) What is meant by the term downturn?
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PMT

(d) What is meant by the term infant industries?

In August 2019 Inter Milan, an Italian football club, paid £73m to Manchester United
for the transfer of footballer Romelu Lukaku. The exchange rate was £1 = €1.08.

03059
SIS
CRXRKLLRKL.
ERRRES

%
SRR

a0
LXK

<
S
bose%s

X8
2
5

<X

3

OO
R
QKK

KL
SR
!

(e) Calculate the price Inter Milan paid in euros (€) for the transfer of Romelu
Lukaku. You are advised to show your working.
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In December 2019, the USA imposed a 10% tariff on toys imported from China.

(f) Using the diagram below, draw the likely effect of the introduction of this tariff on
the equilibrium price and quantity of toys imported from China. Label the new

curve, the new equilibrium price and new equilibrium quantity.

Price of
toys ($)

D

Figure 1

Economic growth in Malaysia increased to 4.9% between April and June 2019.

(g9) Explain one disadvantage of economic growth for a country such as Malaysia.

Quantity
of toys

(3)
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PMT

Kenya’s annual inflation rate increased to 6.27% in July 2019 from 5.7% in the
previous month. Kenya’s central bank base rate for July was 9%.

(h) With reference to the data above and your knowledge of economics, analyse how
monetary policy can be used to control inflation in a country such as Kenya.
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2 (a) Adepreciation in a country’s exchange rate is most likely to lead to which one of the
following?
(1)

Lower inflation

Higher exports

O o oo

A

B

C Increased unemployment

D Increased budget surplus

(b) Which one of the following terms may refer to someone having a lower standard

of living in comparison to the average person in society?
(1)

Absolute poverty

Income distribution

O o oo

A
B
C Relative poverty
D

Poverty trap

(c) State one effect on the balance of payments of improved quality of domestic goods.
(1)

(d) What is meant by the term fiscal policy?
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PMT

In December 2019 the unemployment rate in Venezuela was approximately 44%.
This was much higher than the previous December’s figure of 35%.
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(e) Explain one impact of increasing unemployment rates on business confidence in
a country such as Venezuela.
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By volume, 90% of world trade of goods are transported by sea in containers. There are
5,000 container ships in the world and the largest carries more than 20,000 containers.
It now costs only $0.05 to ship a t-shirt across the world from low-cost countries such
as Vietnam.

(f) Explain one reason why the reduced cost of transport has helped to increase globalisation.
(3)
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Total healthcare spending in England was £129bn in 2018-2019 and was expected to
rise to nearly £134bn by 2019-2020. Access to healthcare is free in England.

Total healthcare spending in England 2010-2020
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(Source adapted from: https://fullfact.org/health/spending-english-nhs/)

Figure 2

(g) With reference to the data above and your knowledge of economics, assess the
use of investment in healthcare to reduce the level of inequality and poverty in a
country such as England.
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3 Figure 3 shows selected UK Government receipts from taxation in 2019.
£bn

Sales tax (VAT) 186.3

Income tax 268.3

Tariffs 31.9

Business tax 53.4

Figure 3
(@) What is the total amount of revenue raised by direct taxes?
(1)
[0 A £4546bn
[J B £321.7bn
[J € £218.2bn
[ D £853bn
(b) A government can try to stop its exchange rate from appreciating by
(1)
[J A increasing interest rates
[1 B selling its reserves of foreign currency
[J € buyingits own currency
[] D selling its own currency
10
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PMT

The Government of Bangladesh provides subsidies of between 2% and 4% on the
export of clothing. In 2019, it introduced additional subsidies of up to 10% for the
export of 10 new products including home appliances.

(c) Explain one advantage of using subsidies for a country such as Bangladesh.
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A UK environmental group has called for tough action to tackle air pollution, particularly
from road transport. It wants the UK Government to impose higher taxation on petrol and
diesel fuel for cars and trucks.

(d) With reference to the data above and your knowledge of economics, analyse the
advantages of using taxation to help protect the environment in a country such
as the UK.
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Just 30 years ago, Ghana was in crisis with high levels of poverty and on the edge of
economic collapse. The West African nation has made a significant recovery and was
predicted to be the world’s fastest growing economy in 2019.

<

The International Monetary Fund (IMF) estimates Ghana's Gross Domestic Product (GDP)
growth rate of 8.8% will be double that of emerging economies, and well ahead of world
growth rates. Ghana is one of the world’s largest cocoa producers. Its growth is now being
s maintained by a different commodity, the extraction of crude oil.
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(e) With reference to the data above and your knowledge of economics, assess the
use of GDP as a measure of growth for a country such as Ghana.
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4 Figure 4 shows the amount of foreign direct investment (FDI) India received from 2016-2019.
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(Source adapted from: https://www.businesstoday.in/current/economy-politics/
india-has-received-highest-ever-fdi-of-6437-billion/story/369313.html)
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(a) Calculate, to two decimal places, the annual average value of FDI in $bn for India
from 2016-2019. You are advised to show your working.
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India is a member of the Asia-Pacific Trade Agreement (APTA). This preferential trade SL5S
agreement has five members including Bangladesh, China, South Korea and Sri Lanka. G

(b) With reference to the data above and your knowledge of economics, analyse the SRS
benefits for India from being a member of a trading bloc. SO
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In January 2019, the Indian Government approved new legislation that improved and
simplified its policy on foreign direct investment (FDI). This helped to attract more
multinational corporations (MNCs) to the country.

In 2019, India ranked among the top 10 economies benefitting from FDI. The overall
growth of FDI in India was due to its many resources. These include a high degree of
specialisation in services and a skilled, English-speaking, low-cost labour force. India also
has a potential market of over one billion people.

FDI in India has been focused on chemicals, computer software and hardware,
telecommunications, the automobile industry, construction, power and pharmaceuticals.

(Source adapted from: https://www.nordeatrade.com/en/explore-new-market/india/investment)

(c) With reference to the data above and your knowledge of economics, evaluate the
benefits of FDI for a country such as India.
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4

KL
QLK
R

SRR,
000000
‘5é§‘%$'

2

o
K5
55
CKKS

<535
S
Sogoteseset
RREEKLS

¢
X
5
L5

.::’

%’
5

X

RHK
Steteteds

o5
QLR
CANERL
804
o%

X
X

A
V4

0

&

8K
AR N
DN
SR atuafeiete st
ZRLZRRLRRKRIRRK

ORI
PO

7
SRR

\-

2
@
9

%

%%
b
X

S5
KX
P
S
ptetete!

LK

%%

40X

ORI

0%
000
XK
5

(X
55
So%ss
%

G0
ety

0%

o%
RIRRRKARRAAK AN

X
oo
5555
KL

00
boes
oot
s
ot
ot
5

¢

3
3

0%}

<>

<
LR
po%e

e
5

&5

0%
'
0%
S8

OIS
RSB
Eottstotetestototets!
B CRGLLRIKS
SN
Sototetatetetete!
KRR

>

%

<
2R
b

06K
RRERKS
QLS
X
ot
boses
CXX

o
53
RS

RRERS
fotetetotets
5%

0K
Dosetele’

(RS

2
SERREIER
bl

%
<

¢
pososoressset
000 %
(KL
LRRRLRS

o%
o%

19
AR T OO 0 —
P 6 5 8 99 R A 01 9 2 0



BLANK PAGE

20

P 6 5 8 9 9 R A0 2 0 2 0

PMT!

LSRR
KRS,
KRS

IR
5%

X QQT; :
oY%
205

o0~ 90
o5
POT 2 3%
&I
prosevasiies

SBALS
BsOseles
KRS

2K
SN
(9% -l
Bosteres
907000,
S
&

:0.0
S
RETHX
DoeTet 108

oseren
<o

OSSavi,
ReTAvas 5%
ITEES

%9,

&R
SRS

605
8
ey
<D
&
2

O
8

o
5

P
?
3%

R
iy
A
5

SRR
(90950509
o





